
nvesting for retirement can be problematic for pro-
fessionals in partnerships or other types of closely 
held firms. Yes, that includes lawyers in law firms. 
These individuals tend to spend their early careers 

focused on building their business. By the time they’re 
ready to start saving money for retirement, standard 
retirement savings vehicles such as 401(k) plans can 
shelter only a small portion of their income. The rest is 
subject to taxes, often in the highest brackets.

Cash balance plans can help. A type of defined benefit 
retirement plan,1 cash balance plans have much higher 
annual contribution limits than 401(k)s—nearly 10 
times higher for older individuals—enabling par-
ticipants to build substantial tax-deferred accounts. 
If individuals earn enough to take advantage of these 
contributions, they can accumulate secure retirement 
portfolios more quickly than with traditional retirement 
plans. For this reason, the plans tend to be most popular 
with firms of relatively highly paid professionals, which 
include not only law and accounting firms, but also 
medical and dental practices. But any type of business 
may find them attractive. 

To get the most out of cash balance plans, firms need 
to make well-informed decisions about their plans’ 
terms and investment strategies, which can have a big 
impact on a plan’s relative success. Too often, firms make 

decisions without a full analysis of their ramifications.
We conducted an analysis of investment strategies 

for cash balance plans for partnerships and other closely 
held firms, modeling probable outcomes of key decisions 
made by the plan sponsors, showing their potential effect 
on the plans and their participants. Our forecasting uses a 
Monte Carlo model that simulates 10,000 plausible future 
paths of returns for various asset classes and inflation.2 

This analysis arrives at some surprising conclusions 
regarding optimal investment planning choices. We 
found that cash balance plans at partnerships and 
closely held firms have much higher sensitivity to 
short-term market volatility than other retirement 
plans. Therefore, they must perform a balancing act 
between the pursuit of long-term growth and the 
need to keep volatility at manageable levels.3

The chief attraction of cash balance plans is their greater 
potential for building tax-deferred wealth than other, 
traditional retirement plans. By sheltering income 
from taxes when it’s earned and allowing the invested 
assets to compound without taxes, these plans allow 
participants’ wealth to grow at a faster rate. If income 
taxes rise in the near future, as many expect, this tax-
deferral feature may become even more attractive.4

The advantage of cash balance plans begins with their 
large annual contribution limits. The limits are generous, 
relative to 401(k)s and profit-sharing plans. The maxi-
mum annual contribution to a cash balance plan for 
a 50-year-old is $103,000. For the same person, the 
maximum contribution is $22,0005 with a 401(k) 



(1)  a pay credit—either a percentage of each partici-
pant’s pay or a preset dollar amount, and 

(2)  an annual interest credit. 

The interest credit is the rate of return the plan spon-
sor has promised to pay participants (or a tier of par-
ticipants) on their account balances for the year. While 
the rate of return will be the same for all participants 
covered by that rate, the actual dollar value of the credit 
will depend on the size of each participant’s account. 
Interest crediting rates can be either a fixed rate or a 
variable rate linked to an index, subject to guidance from 

and $32,500 with a profit-sharing plan. But note that 
a participant enrolled in all three plans can make a 
total one-year contribution of about $158,000.6 

Therefore, someone who is 50 years old today and 
participates in all three retirement plans could defer 
$3.6 million in inflation-adjusted dollars by age 65.7 And 
that’s before investment growth potential. (See “Sock 
Away Savings,” this page.)

A cash balance plan sponsor funds the plan annually 
in two ways: 

Cash balance plans allow considerably larger contributions for  
tax-deferred retirement savings than 401(k)s or profit-sharing plans
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contributions, and their contributions have the net effect 
of reducing their annual income. Because the annual 
interest credit will grow with the size of the account, the 
amount of income reduction can be substantial.9 This 
may be a good thing if the participants want to reduce 
their income for tax reasons, but can be a bad thing if 
the income reduction is more than participants expected 
or can afford.

This dynamic is the key difference between cash bal-
ance plans at closely held firms and those at large corpo-
rations. While a large corporation typically welcomes 
excess growth in its cash balance plan to lower the 
cost of future contributions and minimize potential 
shortfalls, closely held firms want returns as close as 
possible to a certain target rate each year. The closer 
the plan comes to that goal, the more participants can 
take full advantage of the plan’s benefits: lowering their 
annual taxable income while building a tax-deferred 
retirement account.

One might ask: “Why not choose an 
easy-to-hit interest crediting rate and 
invest in bonds to match it?” This is 
a common question when profession-
als consider cash balance plans, but this 
approach creates several problems. 

First, in today’s economic environ-
ment, how can you find a “safe” invest-
ment that will reliably pay more than a 
pittance in real (after-inflation) interest? 

Second, a bond’s return over any given 
time period may differ significantly from 
its yield. As an extreme example, as of 
Dec. 31, 2008, the yield on a 30-year 
Treasury bond was 2.69 percent. Yet, for 
the first six months of 2009 that bond had 
a total return of negative 23.3 percent.10

Third, if the goal is retirement security, 
you may wish to shoot for a higher cred-
iting rate than any perfectly safe invest-
ment could offer. A measurable amount of 
shortfall risk is worth considering for the 
extra return potential it offers over time.

There are three key decisions that will 
have tremendous impact on the experi-
ence of plan participants:

the Internal Revenue Service. So, for example, the pay 
credit might be 5 percent of each participant’s pay, and 
the interest crediting rate might be a rate linked to the 
30-year Treasury bond.

The plan sponsor determines how to invest the 
plan’s assets. Ideally, the investment return covers 
the annual interest credit. The investment return may 
even cover all or part of the next year’s pay credit. If, 
however, the plan’s investment return does not meet 
the interest crediting rate in any given year, the plan 
sponsor has to make up the difference. The plan spon-
sor can take up to seven years to make up a shortfall, a 
length of time set in the terms of the plan and known 
as the amortization period.8

At a closely held firm like a partnership, the partners 
and the plan sponsor are closely aligned. While the plan 
sponsor is legally responsible for making the annual 
contributions, the partners are the ultimate source of the  
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Adding stocks to the mix of stocks and bonds  
can increase the probability of a surplus but  
at some point increases the probability of negative returns 



Decisions about asset allocation have 
the greatest impact on how close a plan’s investment 
returns come to the interest crediting rate. Note that 
this is really an ongoing series of decisions, because a 
plan’s assets can be reallocated at any time. For example, 
if a plan has achieved its annual interest crediting goal in 
midyear, it might want to reduce risk in its investment 
portfolio to aim at locking in the performance.

The higher the rate is, the 
more a plan can grow for the benefit of participants. 
But if investment returns don’t meet the rate, a plan 
may have large shortfalls to make up. Also, the interest 
crediting rate is set in a cash balance plan’s terms and 
can be changed only by amending the plan.11

The first line of defense for 
handling shortfalls may be participants’ 401(k) or 

The range of second-year contributions will vary  
dramatically based on the asset allocation chosen 

As the plan grows, the potential shortfall or surplus in any 
given year becomes much larger—and it’s clear that a  
100 percent bond allocation is not necessarily the safest choice 

profit-sharing contributions. These contributions 
are voluntary. Suspending them for a year or two 
can help partners free up monies to fund cash bal-
ance plan contributions, which are mandatory. The 
impact of shortfalls also can be eased by extending 
the amortization period, up to seven years. But if a 
participant leaves the plan, any shortfalls tied to the 
departed participant’s account must be made up by 
the plan itself. (Remember, this is a defined benefit 
plan, which means the plan has defined the benefit to 
the participants, regardless of unforeseen events.) In a 
partnership, this scenario effectively means the remain-
ing partners have to make up the shortfalls relating to 
the departed partner’s account. Amortization periods 
also are defined when the plan is created.12

Each of these three decisions involves trade-offs 
between conflicting priorities. The biggest trade-off is 



participant—Rich—who saw his cash balance plan 
contribute $110,000 to his notional account in the first 
year and expects it to contribute $117,000 in the second 
year. For this example, we use the IRS third segment rate 
of 6.8 percent.

What asset allocation is most likely to hit a 6.8 percent 
return without undershooting or overshooting too much? 
To find the answer, we ran an analysis based on the prob-
ability of one-year returns for asset allocations ranging 
from 100 percent bonds to 100 percent stocks, measuring 
the risk of negative returns versus the return potential. 

We find that some exposure to equities is necessary 
to improve the chances of reaching 6.8 percent. But, not 
surprisingly, increasing the allocation to equities also 
increases the possibility of negative returns—because 
of stock market volatility. The sweet spot is an alloca-
tion of somewhere between 20 percent stocks and 40 
percent stocks. If there are any more stocks in the mix, 
the possibility of negative returns rises without enough 
return potential to compensate for that risk. (See “The 
Sweet Spot,” p. x.)

Given the asset allocation, what is the likely range of 
actual one-year returns, and how will they impact the 
amount needed for the following year’s contributions? 
We can model the range of returns to find out. 

What we find, for example, is that with a portfolio 
comprising 40 percent stocks and 60 percent bonds, Rich 
faces a one-in-10 chance that after one year the plan will 
owe $135,000 to his account—the expected $117,000 
second-year pay credit plus a shortfall of $18,000. We 
also find that the greater the allocation to equities, the 
greater the probability of a surplus—as well as the likeli-
hood of shortfalls. (See “After One Year,” p. x.)

One might conclude that a 100 percent bond port-
folio is the best choice: It comes closest to meeting the 
desired interest crediting rate with the smallest potential 
shortfall. But remember that this represents only one 
year of returns. Over time, Rich’s account will grow, as 
will his annual contributions, and his potential short-
falls. (See “After Five Years,” p. x.)

Five years into the plan, the expected annual contri-
bution to Rich’s account is $157,000, and the potential 
for shortfalls has grown. A 100 percent bond portfolio 
is no longer the most attractive choice. With a potential 
shortfall of $64,000, its downside is greater than that of 
a 20/80 portfolio, and close to that of a 40/60 portfolio, 
but its potential surplus is much smaller. 

In other words, asset allocation can have a dramatic 
effect on cash balance plan participants, and should 
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The higher the interest crediting rate, the greater the 
likelihood of long-term wealth creation. But the  
probability of annual shortfalls also increases

Inflation-Adjusted, Based on Maximum Contributions

between growth potential and the risk of shortfalls. In 
other words, if a plan chooses a high interest crediting 
rate, it will accumulate more wealth for its partici-
pants over time—but it will almost surely have bigger 
shortfalls when its investments fall short of the target. 
The more it invests in equities, the more likely it will be 
to reach the target, but given the volatility of equities, the 
risk of shortfalls increases as well.

Also, participants of different ages may have differ-
ent preferences for the plan’s investments. Because the 
size of potential shortfalls grows as account sizes grow, 
older participants tend to prefer terms that minimize 
shortfalls—in other words, a lower interest crediting 
rate and a more conservative asset allocation—whereas 
younger participants tend to prefer a structure that aims 
for maximum investment growth.

By subjecting each of these trade-offs to rigorous 
financial modeling, partnerships with cash balance plans 
can make better-informed decisions.

To measure the effect of various asset allocations on 
performance, let’s analyze the hypothetical case of one 
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be reviewed regularly. A number of factors may cause 
a plan sponsor to consider changing the asset alloca-
tion, such as plan performance or changes in the cir-
cumstances of plan participants. Unsurprisingly, most 
plan sponsors work closely with an investment manager, 
often through an investment committee, to determine 
and review asset allocation.

Given the potential for shortfalls, a plan might con-
sider a lower interest crediting rate. What would the 
numbers look like if the plan chose the yield on 30-year 
Treasury bonds, which was 3.56 percent at the time of 
our analysis?

Clearly, it won’t be able to accumulate the same 
amount of wealth. Our calculations show that over a 
15-year period, given typical markets and a 3.56 percent 
target rate, the account of a participant in this plan 
can be expected to grow, adjusted for inflation, to $2.8 
million, compared with $3.6 million if the rate were 
6.8 percent.13 However, the trade-off of lower potential 
shortfalls still might be attractive. (See “Greater Wealth 
Potential,” p. x.)

With a lower crediting rate, the asset allocation 
decision becomes simpler. A small allocation to equi-
ties—10 percent—is much better than no equities 
at all. But an allocation to equities that is any greater 
actually increases the risk of negative returns without 
improving the odds of meeting the target rate. So, a 10 
percent stock / 90 percent bond mix is the optimal asset 
allocation for this interest crediting rate (at least at the 
time this analysis was done). Incidentally, a low target 
rate does not necessarily call for an all-bond portfo-
lio. (See “A Different Sweet Spot,” p x.)

The third key decision—dealing with shortfalls by 
adjusting the amortization period—can be difficult, 
because at most firms any choice has a distinct down-
side. If the period is the shortest possible, one year, the 
pain of shortfalls can’t be mitigated by stretching them 
over time. If the period is longer, a partner’s departure 
may mean an extra cost for other partners. But in certain 
cases the decision is easy. For example, if a one-person 
firm creates a cash balance plan, a seven-year period is 
probably the best choice, because there is no evident 
downside. Conversely, many firms choose the one-year 

(Stocks/Bonds)

A lower interest crediting rate such as 3.56 percent suggests a 
lower allocation to equities—but not 100 percent bonds

period without further analysis, because they simply 
don’t want to consider burdening partners with other 
partners’ shortfalls.14

For most firms, though, it’s worth considering the 
choice between, say, a one-year and three-year period. 
(See “Falling Short,” p.x.) 

Analyzing a plan’s investment goals and strategy 
should be, at a minimum, an annual exercise. Plan 
sponsors can change their asset allocation at any 
time, so midyear corrections are easy to make. While the 
interest crediting rate can be changed only through 
plan amendments, some plans may find that as their 
account balances grow, it makes sense to transition to 
lower target rates and more conservative asset alloca-
tions. These decisions depend on the demographics and 
other characteristics of the plan participants.

But, of course, cash balance plans should not be 
considered in a vacuum. Individual participants are 
sure to have other investment accounts—taxable and/or 
tax-deferred—and the asset allocation decisions in each 
should be considered as part of the whole. For instance, 



if an individual’s firm has a cash balance plan with a 
low crediting rate and a very conservative asset alloca-
tion, it might make sense for that person to invest more 
aggressively in his or her 401(k) and taxable accounts. A 
customized analysis for an individual, similar to the 
kind done for the cash balance plan, can provide the 
foundation for making well-informed decisions.

—Bernstein Global Wealth Management, a unit of 
AllianceBernstein L.P., does not offer tax, legal, or account-
ing advice. In considering this material, you should discuss 
your individual circumstances with professionals in those 
areas before making any decisions.

As years go by, longer amortization  
periods can create mounting debt 


